Attribute match and grids : CAT 14

Five friends Amol, Mandar, Piyu, Shashi and Reena attended Sagar’s
birthday party, where they partook of the sumptuous snacks and dinner.
Each of the five friends gifted Sagar a different article - a fountain pen, a
cellphone, a shirt, a jacket and an I-pod and Sagar, in return, gifted each of
them a different article- a video game, a sweater, a perfume, a calculator
and a pair of sunglasses. The following additional information is known
about the gifts given by the friends and the gifts received from Sagar.

Amol gifted the Shirt and received the video game in return. Shashi did not
gift the I-pod but received the perfume in return. Mandar did not gift an
electronic item and received the calculator in return. The person who gifted
the jacket received the sweater in return and Reena received the pair of
sunglasses.

1. Who among the following gifted the jacket ?

a. Mandar
b. Shashi
c. Reena
d. None of these

2. Which of the following statements is true ?

a. Two of the friends who did not gift and electronic items , received
electronic items in return

Piyu gifted the jacket and Shashi gifted the I-Pod

Shashi neither gifted nor received and electronic item

The person who gifted the cellphone got a calculator in return
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3. Which of the following is the correct combination of friend, article gifted
and article received in return ?

Piyu - Fountain pen - Sunglasses
Shashi - Ipod - Perfume

Reena - Ipod - Sunglasses

None of the above
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4. Which of the following statements is false ?

a. Only one friend whose name does not start with a vowel, received an
electronic item in return

b. The friend whose name appears last in alphabetical order, gifted an
electronic item and received a non electronic item.



In alphabetical order, The friend who gifted the I-pod appears before at
least two other friends

. The friend whose name in alphabetical order appears in the middle
neither gifted nor received an electronic item
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